 SEQ CHAPTER \h \r 1Econ 206/Test 1  Write your name on your scantron (-2 if not)

The following data represent driving expenses claimed on 5 business trip:  

$40; $50; $100; $50; $60 
1.  The median monthly expense is  

a.  $100
b.  $60
c.  $50
d.  none of the above
2. The mean monthly expense is

a. $65

b. $60

c. $50

d. none of the above

3.  The standard deviation of monthly expense is about

a.  $11

b.  $21
c.  $31

d.  $51
4.  The range for this data set is

a.  $10

b. $20

c.  $30

d. $40

5.  This data is
a. bell-shaped



b. skewed toward larger values

c. skewed toward smaller values

d. almost perfectly symmetric

6.  Which formula is correct for computing percent change in monthly S&P 500 values?

a.   current month – prior month

b.  (current month – prior month)*100

c.  (prior month/current month)*100

d. 100*(current month – prior month)/prior month)

7. Suppose that we collected data on food expenses for 1000 selected households each year for 10 years.  This is an example of

a. qualitative data 

b. cross-sectional data

c. experimental data

d. longitudinal data

8. Suppose that we use a scale to measure weight of individuals in the classroom.  On average, 

scale provides accurate measures but from person to person or in repeated measures, it provides 

very different results.  This is an example of

a. an unreliable measure

b. an invalid measure

c. a qualitative measure

d. a binary measure

9. Suppose that the standard deviation for an exam turns out to be very small.

a.  The class received very similar scores

b. The class received very dissimilar scores

c.  The class is negatively skewed 

d.  The entire class received very high scores

The following table provides descriptive statistics on salary for 474 employees.

	Descriptives

	
	Statistic
	Std. Error

	Current Salary
	Mean
	$34,419.57
	$784.311

	
	95% Confidence Interval for Mean
	Lower Bound
	$32,878.40
	

	
	
	Upper Bound
	$35,960.73
	

	
	5% Trimmed Mean
	$32,455.19
	

	
	Median
	$28,875.00
	

	
	Variance
	291578214.453
	

	
	Std. Deviation
	$17,075.661
	

	
	Minimum
	$15,750
	

	
	Maximum
	$135,000
	

	
	Range
	$119,250
	

	
	Interquartile Range
	$13,162
	

	
	Skewness
	2.125
	.112

	
	Kurtosis
	5.378
	.224


10.  Based on the results in the table,  

a. half of the workers made more than $34,419
b. a highly-paid individuals are pulling the size of the mean above the middle

c. almost everyone makes between 28,000 and 34,000
d. all of the above

11.  The number that summarizes the how spread out most salaries are from the average is 

a.   119,250
b.  2.125
c.   $32455
d.  none of the above

12.  The standardized value for a person with a salary of $51,000 would be about 
a.    0.0

b.   2.5

c.  –0.5

d.   1.0

13. The interquartile range is $13,162.  This expresses

a. the difference in the minimum and maximum values

b. the standard deviation adjusted for the size of the sample

c. the difference in the 75th percentile value and the 25th percentile

d. the outliers in the data set

14. Of the figures drawn on the board, which one best expresses the shape of the data described by these statistics?

a.


b.

c.


d. 
15.  Data such as male/female or like/dislike that is treated as a 0,1 variable is known as

a. qualitative data

b. quantitative data

c. longitudinal data

d. none of the above

	Semester Grades

	
	

	Mean
	77.919

	Standard Error
	2.037

	Median
	78.832

	Mode
	#N/A

	Standard Deviation
	13.044

	Sample Variance
	170.153

	Kurtosis
	8.326

	Skewness
	-2.139

	Range
	75.498

	Minimum
	20.503

	Maximum
	96.002

	Sum
	3194.695

	Count
	41.000


The statistics in the table above are based on semester grades in a 206 class from the past.   
16.  Which of the following is an accurate explanation of what is “typical” for  the majority of this class:

a. making a grade of 77

b. making a grade between 64 and 90 

c. making a grade above 78

d. making a grade between 20 and 96

17.  In the class described above 

a. grades were imbalanced or “leaning” toward smaller values

b. grades were nearly perfectly symmetric

c. no one made above 90

d. none of the above

18. A student with a score of 64.9 would have a standardized score of about

a. -1.0

c. 1.0

c. 0.0

d. -2.0  

                                             n 

19.  If you see the notation  ∑ (Xi)2, this means that you should
                                             i=1

a. add all (n) observations together and then square them

b. square each of the n observations and then add them

c. square the first observation (i=1)

d. add the square of the first observation to the square of the last observation
20.  Suppose that you have a variable where Male=1 and Female=0.  Then
a. the median is a better measure of the center than the mean

b. the standard deviation will be very large

c. the mean will measure the percentage of the observations that are male

d. the data will have a range of 10

21. Put “A” for your answer
Correct Answers: 1c, 2b, 3b, 4a, 5b, 6d, 7d, 8a, 9a, 10b, 11d, 12d, 13c, 14d, 15a, 16b, 17a, 18a, 19b, 20c
